=
=l
3] E!]V,“
=R
T/NE

b
SH
I
~N
B

FEELIE Zg)llKZR

B FF DRI SRR HIETE

Jii

chEf i S EERD SRR

Alinl



FIDKZRFN - 4RN - FEI - BRI - TAE)NNRFIFORRICEAT R H T E

L RERE

5 % 2 = R £ E f#
wH R AR BEENRE 4 0 %0 860 (EWMEM L0 17. 62km
sl I E T F~OaHA |5)ITFHFET6S-3HRE (BREEM.LR 13. 20km
—w) (A HRNADETA [RUTALTHE2 10 18D 4 0% 1. 60km
=wE) BRI £ NA~DaTA[RAETEITENS S 70— 28k 0. 45km
il [T FN~Oaws |HAETLATERT 0 oFD 1% 3. 68km

36. 55km

2. REloFE
1) #D6. 0k &Y EREAEPBNCTH ) ANEBRRICKBE R D10, BIEREET 2,
6. 0k &KV THHIE. AKETERTHZLOORBANICHEBEEROBERLH S &, RWAINEEERAAHOR TN EZEET 2HERRICH D Z &b,
TR 2 9 4 ICHERE & M) | B S BB % S SO AR ER A FTRE S T B,

2) ZNoFRI. BB 2R, TASINE, FAEASNTH YA EEBRICKE L R 202 IR EREE T 3,



3. JERIEEER R R CMERIE2ERTE
1) EHIEERRS  BREHEARS, BLEFAHARS+0. 5miE
IEHIEAENTE © HR - AHIED S 2 OmBEL, BHIAEL : 25 EK T,

H) B EEER (F4ER)

\ _ {R%EEAE20M

RE R WA

/ HE LY 20nOWmE

7

| e e o I

B 08 B AT R

i @ §

R & EEAE20m

/) RRRE

K F & U 20mo #HE




BIEXEZE
1) ZIEXE

&5 A4 g A E E T
S E Tl 6. Okm BEEEX R 11, 6 2km{lIEAS, AIEEBRICKELNET 57-5,
53|l 4R Bl~0ERR | EEXHELRG 13. 20 km|lE»Hk<, AIEBEBRICKENET 57250,
ZRXZI (BN ERI~OERA |BEXRE ik 1. 60 km|JIiEh <, FAIBEBRICKENET B7-5,
ZRZN BRI FRI~OERA |BEXE R 0. 45 km|JIMEH%<, FA)IBERERICKENET 5720,
TN (TN HI~DEHRA |BEREXRE G 3. 68 km|lliEA L, JAIEEERICEENET 2720,
=t 30. 55km

X BIERBNICEEHBLAEIMICEYRTEANTELTVWSEEICRY ., ANEERTEIRREE~NOEZENE CLVEE TRIATEET 5,

2) REXE
fakT 751
HiElT 73 M

YEH R REE K OMERERA]

HEE - KEEDL D2 0mOEHE

HHUIEY R
X RRRBRNICEEHBLAEIRICEYRTEANTELTVSESICRY ., ANEERTEIIRREE~AD

L =

EFR150m

o480

oa

AECLHVERE TRIAEEE T 5,

e (H$M64E10AHKRE)
=al A% F) =4 & = T K HE (Tm3) FEAEEE (Fm3) & £33
iR Il A0 6. 0Kk 6. O0km 12 12
FERBIFHE
. BT EI(L,000m3) o
; ST & A8 & 9 & SM10&E SM11E i
. e TAIRE TAIRE IR FAIRE W
ENIES Epdss Expds Epdss Epdss HAX I EX
:ﬂ% sozax|. jﬁw #FhoH | :ﬂ% g0 | _ :ﬂyl moHaR| . _ fﬁw #FhoH | fﬂw; ghoH |
£ = & p=t #ToF| 3 #T0F s #TOF TlnTres|xuow| | ATFEE| FT0TF ol #ADF Nk
PN FE ok 2 | s | e . |eEor | s | T
R 1 2 | gore EE | aorn = o S == o3
31| 0. 3k 6. 0k 2.4 2.4 2.4 2.4 2.4 24 - 2.4 24 - 2.4 2.4 12.0 12.0
=t 2.4 2.4 2.4 2.4 2.4 24 - 2.4 24 - 2.4 2.4 12.0 12.0

Z Db E e EIE




